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CALCULA LOS SIGUIENTES LIMITES:

f(x) =

f(x)=

f(x)=

h(x) =

X si x<0
1 . lim f(x); lim f(x); lim f(x); lim f(x);lim f(x)
— si x>0 X—>—00 X—>+00 Xx—-3 X—>2 x—0
X
X+ .
— si x<0 . . ) . )
X lim f(x); lim f(x); I|r[13f(x); Ilrr; f(x);llrrg f(x)
27" si x>0
Lg si x<1
X2+ lim f(x); lim f(x); Iirrg f(x) Iim3f(x); Iirr; f(x);lirq f(x)
X 72 si x>1
X
=X 6 x<-2
X+3
2 si —2<x<l1
2
X si x2>1
X—2

lim £(x); lim £00; im £ 0 lim £ fim £ (x);1im f(x); lim £ (x); lim £ (%)

h(x) =

3Xx+9

si x<0

si x>0

Iirp f(x); lim f(x); Iirpsf(x) Iirr_lsf(x);ling f(x); |irTI f(x); IirT; f(x)

h(x) =

h(x) =

1-x
X+3
X+1

si x<0
fim £(x); Jim £00 ;5 Jim £ (x)5lim £ () im 003 1im (%)
si x>0
si x<0
lIim £0x) 5 Iim £(x); lim £(x); lim £ (x) ;lim £(x); lim 7 (x)
si x>0



SOLUCIONES

1)

2)

3)

4)

5)

6)

7)

lim f(x)=0
lim f(x)=—o0; lim f(x)=0; I|m f(x)=-3; I|m f(x)_— Ilmf( Y= = Alim f (x)
X—>—00 X—>+00 lim f(x)_ o0 x—0
x—0*
lim f(X)=—o0
lim f(x)=1; lim f(x)=0; lim f(x)="; lim f(x)=""; lim f el Alim f
lim £ =1; lim £(9 =0 fim (0= lim (=7 m ) =41 ) =3lim {0
x—0"
lim f(x)=-c0 3
lim f(x)=0; I|m f(X) =+x; I|m f(x)_— I|m f(x)=4""° = Alim f(x); lim f(x)=—;
X——00 lim f(x)=+x x—>-3 X—2 2
x—>-3"*
lim f(x)= L
lim f (x) =<1 4 = 3lim f(x)
x—1 I|m f(X) O x—1
x—1"
5 lim f(x)=-o0
lim f(x)=-1; lim f(X)=+oo; lim f(x)=—; lim f(x)=4"2"° =Alim f(x);
X—>—00 X—>+00 X—-5 2 x—-3 lim f(x):+ X—>-3
x—>-3"
lim f(x)=2
- LTS .5 x—1" - .
XIlﬁr[12f(x)_2,lxlir(1)f(x)_Z,IXanlf(x) lim £ (x) =1 :ﬂlxlinlf(x),
x—1*
lim f(x)=—o0
lim f(x)="*7% Alim f
M 0= lim £ () = 4o 20 F)
x—2"
I|m f(x)=-1
lim f(x)=0; Ilim f(x)=0; lim f(x)=—§; I|m f(x)_—E lim f(x) = 3 = Alim f(x);
X—>—w0 X—>+0 x—-5 8 x—0 lim f(X)——— x—0
x—0* 4
lim f(x)=—w
lim f(x)=-1; lim f (x)={*"% Alim f
xlal (X) XI—)Z (X) lim f(x)_ = XI—)Z (X)
x—2"
lim f(x) =+
lim f(x)=0; Iim f(x)=+c0; Iim f(x)=2; I|m f(x)=4""° = Alim f(x); lim f(x)=4;
X—>—00 X—>+00 Xx——1 lim f(x):O X—0 X—2
x—07"
lim f(x)=-o
lim f(x)={""" Alim f
xlal (X) lim f(x)_ = xlal (X)
x—1*
lim f(x)=-o0
lim f(x)=-1; lim f(x)=0; lim f(x)=1; lim f(x)=:"" = Alim f(x);
X—>—00 X—>+00 x——1 x—-3 lim f(X):+OO X—>—3
x—>-3"
lim f(x)_1 3
|II’T(]) f(X)=<x20 3 :>£I|m f(x); Iirr;f(x):z

lim f(x)=+w

x—>-3"*





